
Product:  WC-AP4, Adaptor Plate 4 
Weight:	 7.3 oz.  (0.21 kg)

mountnmover.com 1-888-724-7002 (toll free) or 1-612-724-7002        pg 1 of 1

Hardware - Corpus:
(4) M5-.8x12 Socket Head Cap Screws [UU]
(3) M6-1x45 Socket Head Cap Screws [EE]
(2) 0.25x0.715x0.125 Washer [B]

Hardware - Quantum:
(1) 5/16-18x1 Hex Cap Screw [OO]

Hardware - Corpus:
(4) M6-1x14 Socket Head Cap Screws [DD]
(4) M6-1x10 Square Nut [G]

Material:  
0.250” (6.35 mm) laser cut steel

Coating:
Electroless nickel


